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The options for computer generated works, text and data mining and patent
inventorship are summarised in the following tables.

Computer generated works

Option O Make no legal change
Option 1 Remove protection for computer-generated works
Option 2 Replace the current protection with a new right of reduced

scope/duration

Text and Data Mining (TDM)

Option O Make no legal change

Option 1 Improve licensing environment for the purposes of TDM

Option 2 Extend the existing TDM exception to cover commercial
research and databases

Option 3 Adopt a TDM exception for any use, with a rights holder opt-out

Option 4 Adopt a TDM exception for any use, which does not allow rights

holders to opt out

Patent Inventorship

Option O Make no legal change

Option 1 “Inventor” expanded to include humans responsible for an Al
system which devises inventions

Option 2 Allow patent applications to identify Al as inventor

Option 3

Protect Al-devised inventions through a new type of protection




Copyright — computer generated works (CGW)

1.

Do you currently rely on the computer-generated works provision? If so,
please provide details of the types of works, the value of any rights you
license and how the provision benefits your business. What approach do you
take in territories that do not offer copyright protection for computer-generated
works?
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Please rank these options in order of preference (most to least preferred) and
explain why.
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TN T2 S r P FEE LTI E ST L TR S & 7T 5 B
R L BEGFEEDNT X BRI 70 S B L@ EETH Y,
BIHF R Tl Option 0 Z iR HEIEE TS, RIZ4# Option 2 & H#ET 7717 D
i PEL D THIUTL, ZrEHEE D FIDBL TOEEIZNZ, IEFDE
SRR YA DN DI ED CGW DEH XIAF D EEUTHI R B AT S T
EPRBIZRIPDIRBEHH G2 60 S ZEIZL D, 4/ N—=29DH
HEDFEIRICK T SIEZFIZ b R V73S = & & ZEIZAN R PR IS
ZEPREEER S,

If we introduce a related right for computer-generated works, as per option 2,
what scope and term of protection do you think it should have? Please explain
how you think this scope and term is justified in terms of encouraging
investment in Al-generated works and technology.
[a] -
Al B DREGELE L U 5 BLis Tl Al IS L D L5k 3315 1Fdn DA e
(THTYXADT 22 Z I, NIX=Z—=DRIE, FEHDOT—%
DYRIEE, Ll SPV/ENEda DT 2 — =2 ) (ZA DIED R H480/3 2
FBNRCNDNE T SIEFEDHEF & L TAER s DIRZEIZ80 57 TH RO D
TILR VD,

What are your views of the implications of the policy options and of Al
technology for the designs system?
IR

For each option, what are your views on the risk that Al generated works may
be falsely attributed to a person?
[e] -
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Copyright — text and data mining (TDM)

6.

9.

If you license works for TDM, or purchase such licences, can you provide
information on the costs and benefits of these? For example, availability,
price-point, whether additional services are included or available, number and
types of works covered by the licence etc.
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Is there a specific approach the government should adopt in relation to
licensing?
[E]E -
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Please rank the options in order of preference (most to least preferred) and
explain why.
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If you have experience of the EU exception with opt out for rights holders, how
has this affected you?
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10. How would any of the exception options positively or negatively affect you?

Please quantify this if possible.

IR




Patents

11. Please rank these options in order of preference (most to least preferred) and
explain why?
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12. Would the changes proposed under Options 1, 2 and 3 have any
consequential effects on the patent system, for example on other patentability
criteria?
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For options 1 and 2:

13.1f UK patents were to protect Al-devised inventions, how should the inventor
be identified, and who should be the patent owner? What effects does this
have on incentivising and rewarding Al-devised inventions?

R

14.1n considering the differences between options 1 and 2, how important is it
that the use of Al to devise inventions is transparent in the patent system?

[a]E

KEGT, Bl & dliZ B TS H] TS EHET S, AL/ L7 —
HEATGLES, A CBIFYPHIRS, &0 o #Hilne 7 nt X Thild,
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o FAREROSZLICREL IICEDPIAS,

15. Would the UK adopting option 2 affect your global patent filing strategy, if so,
how?
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For option 3:
16. What term and scope of protection should a new right offer?
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17. What should the criteria for grant of a new right be and why? Particularly
should it:
a) Replicate the current requirements for a patent?
b) Set a different bar for inventive step?
¢) Be an automatic or registered right?

Al
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General

18.What role does the IP system play in the decision of firms to invest in Al?

R

19. Does the first mover advantage and winner-take-all effect prevail in industries
adopting Al? How would this affect the impact of the policy options proposed
on innovation and competition?

R

20.How does Al adoption by firms affect the economy? Does the use of Al in
R&D lead to a higher productivity?
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21.Do the proposed policy options have an impact on civil society organisations?
If so, what types of impacts?

R
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